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The volume of a cube is expanding at a rate of 400 cubic centimeters per second.  How fast is the length of a side changing when each edge is 5 centimeters long?






































A stone dropped into a still pond sends out a circular ripple whose radius increases at a constant rate of 3 feet per second.  How rapidly is the area enclosed by the ripple increasing at the end of 10 seconds?






































A spherical balloon is to be deflated so that its radius decreases at a rate of 15 centimeters per minute.  At what rate must air be removed when the radius is 9 centimeters?





A point is moving along the graph of � EMBED Equation.3  ���.  When the point is at (5, -2), its x-coordinate is increasing at the rate of 3 units per second.  How fast is the y-coordinate changing at that moment?


















































The height of a triangle is increasing at a rate of 1 cm/min while the area of the triangle is increasing at a rate of 2 cm2/min.  At what rate is the base of the triangle changing when the height is 10cm and the area is 100 cm2?  


















































Oil spilled from a tanker spreads in a circle whose circumference increases at a rate of 60 feet per second.  How fast is the area increasing when the circumference is 180π feet?
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